R 4 5 (5F 5 RB6R)

BB BB HEE

o1 5 £ 5 A 19 H

e % (23

#mE4 A

W
’\‘ @ ;/\

SF 5 FEEBBEHERICOVT, KOLBYINEHELET,

1 )% A (BBEESERMNE 4 10, 000 M)
g x B (BEESHEXHE 4 10, 238 M)

3 A F R XHRERESOES




S5

FE BHEIHE NXBEE

i SEA FaaIl &
1 A
H H & # A 53]
BHEEE (D) 10,000 M| HEIRfH4e
2 X H
H H & oox i B3]
WA O R & 28
s & = H
OB o K B # wy|  HHNRER
g # fF B & 5,000 M
g O B A & 5,238 M
=) it 10,238 M
£3188 (D-2) A 238 H

X1 ERIEH

EHOEFTHEH L T &0,

Zkiz
X2 ER|eE &E: fé\?ébtﬁ/\&i\ ZOBFEEBGE L TR,

(5| &4

AT A) OBETEEOVE I TH Y FHAL, )




AR ONE
HREOGEIIRERUVER 4 TAT S
&)

(R

BB R

HEESL (Vv H—a )

5,000 [

HEHENE

gtocETh (4 A %)

4,400 M

EREAE

Va2 R (4 A4)

838

H

&

10,238 H




